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Quiz #7

Date: October  25, 2001

☺☺☺☺☺

a) Why would a corporation prefer to use MACRS over straight-line depreciation?


MACRS allows companies to accelerate the rate of depreciation (deductions) in the 
beginning of an assets lifetime.  This will free up money to be spent on other things.
b) What are three basic requirements that must be met for an asset to be depreciated?


1. Must have useful life greater than one year.

2. Must have a set useful life


3. Must be for business use.


4. Must lose value over time.

c) On what form are itemized deductions listed on an individual tax return?


1040 Schedule A
2. 

Calculate the MACRS depreciation rates for a 5 year property, using mid-year convention. Show how you obtained the figures.

**Assume initial value = $100
	
	
	
	
	

	Year
	DDB
	S.L. 
	Rate
	Remaining Value

	1
	0.5 * 2 * 0.2 * 100 = 20
	0.5 * 0.2 * 100 = 10
	20.00%
	$80.00

	2
	2 * 0.2 * 80 = 32
	(1/4.5) * 80 = 17.78
	32.00%
	$48.00

	3
	2 * 0.2 * 48 = 19.2
	(1/3.5) * 48 = 13.71
	19.20%
	$28.80

	4
	2 * 0.2 * 28.8 = 11.52
	(1/2.5) * 28.8 = 11.52
	11.52%
	$17.28

	5
	2 * 0.2 * 17.28 = 6.91
	(1/1.5) *17.28 = 11.52
	11.52%
	$5.76

	6
	 
	0.5 * 2 * 5.76 = 5.76
	5.76%
	$0.00

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


Begin S.L.











